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BRI 44, 178][ 108, 905] 53, 486] 55,419 38 51 -36 52 g8l -15]  398] 413 o[ 151 151
Hih—TH 665 1,474 708 766 0 1 -1 0 1 2 5 3 0 0 0
S =T H 527 1,330 664 666 2 12 1 1 0 5 8 3 6 6 0
FL=TH 452 1,053 513 540 4 4 0 0 0 3 6 3 1 1 0
HLAED 1,644 3,857 1,885 1,972 6 17 0 1 1 10 19 9 7 7 0
gon—-TH 463[l 1,050 490 560 -3 -9 0 1 1 -3 2 5 -6 0 6
Mo n _TH 740 1,907 930 977 -1 —4 0 0 0 -2 1 3 -2 1 3
Sk a =1 H 495[ 1,234 613 621 2 5 0 0 0 -1 2 3 6 6 0
g w1 H 378 955 473 482 4 1 -1 0 1 1 3 2 1 1 0
Skt ] H 5411 1,280 616 664 -1 -3 0 0 0 -2 3 5 -1 0 1
k851 H 221 514 246 268 2 3 0 0 0 2 2 0 1 3 2
Skt H 625 1,658 824 834 5 1 -3 0 3 3 10 7 1 1 0
s\ T H 372 881 438 443 2 5 -1 0 1 3 6 3 3 4 1
| AN 585( 1,464 735 729 -1 -2 0 0 0 -4 1 5 2 2 0
e AE 4,420\ 10,943| 5,365 5,578 9 -3 -5 1 6 -3 30 33 5 18 13
w1 H 308 819 419 400 -1 —7 0 0 0 -2 0 2 -5 0 5
ek s _ T H 899 2,091 1,036 1,055 -3 -5 -3 0 3 1 7 6 -3 5 8
Hek w1 H 658 1,545 754 791 0 0 -1 0 1 2 2 0 -1 0 1
Wk REE 1,865 4,455 2,209 2, 246 -4 -12 -4 0 4 1 9 8 -9 5 14
Mk a1 H 557 1,298 637 661 1 3 0 1 1 -1 2 3 4 4 0
Mk a_ 1T H 322 795 420 375 1 4 0 0 0 -2 4 6 6 6 0
Mk A =1H 242 559 287 272 0 —4 0 1 1 -2 0 2 -2 1 3
Mk AT H 5011 1,270 649 621 -2 0 1 3 2 2 8 6 -3 0 3
[5F Ve 1,622 3,922 1,993 1,929 0 3 1 5 4 -3 14 17 5 11 6
SELagUl 327 967 424 543 3 2 0 0 0 2 3 1 0 0 0
HOEEI— T H 155 399 196 203 -1 -2 0 0 0 0 0 0 -2 0 2
HEEI T H 414 1,008 488 520 4 2 -2 1 3 2 5 2 2 0
HOEEI T H 639 1,665 811 854 -2 -8 -1 0 1 -7 1 0 0 0
HOEESIPY T H 674 1,719 852 867 -1 -9 -1 0 i -11 3 14 3 3 0
HOEE D ] H 387 967 485 482 1 3 0 1 1 0 2 2 3 4 1
HOEEI N T B 390 994 490 504 -1 -1 -2 0 2 1 2 1 0 0 0
HE LT H 620] 1,461 709 752 2 0 -2 0 2 0 5 5 2 2 0
WO DA EL 3,279 8,213| 4,031 4,182 2| -15 -8 2 1 -15 18 33 8 11 3
[EpEESE) 1,423 3,117 1,476| 1,641 0 -3 -2 3 5 0 8 8 -1 0 1
FHIAR 320 728 371 357 -1 -6 0 1 1 -5 0 5 -1 0 1
EEP R — T 434 996 485 511 1 -3 0 1 1 -3 5 8 0 0 0
B HR T 217 478 248 230 3 2 0 0 0 2 3 1 0 0 0
BRI R =T 476( 1,180 590 590 -1 -2 -1 0 1 -2 1 3 1 1 0
EIP Y T H 522 1,161 569 592 -3 —4 1 1 0 ~4 3 7 -1 2 3
EEF T H 203 541 267 274 1 4 0 0 0 0 1 1 4 4 0
EESA R AEF | 1,852 4,356] 2,159| 2,197 1 -3 0 2 2 -7 13 20 4 7 3
EEF AR — T F 621l 1,359 644 715 1 4 1 1 0 4 5 1 -1 0 1
EEFAIT T F 609[| 1,339 632 707 4 0 -2 0 2 3 6 3 -1 0 1
SEEPAHTAER | 1, 2300 2,698 1,276 1,422 5 4 -1 1 2 7 11 4 -2 0 2
HR 302 902 490 412 -2 -2 0 1 1 -1 0 1 -1 0 1
AR T H 627 1,576 791 785 2 —4 0 1 1 -1 7 -3 0 3
HWPR_—TH 1,478 3,699 1,839 1,860 0 3 1 2 1 3 19 16 -1 4 5
WHIR=TH 809 2,260 1,113| 1,147 3 4 0 1 1 -1 3 4 5 5 0
HHRIUTH 443 1,105 531 574 0 2 2 2 0 -1 1 2 1 1 0
HHIRAE! 3,357 8,640 4,274| 4,366 5 5 3 6 3 0 29 29 2 10 8
JeHR—T H 581 1,474 733 741 1 -2 1 1 0 1 —4 1 5
EHFR_-TH 777 2,081 1,024 1,057 4 8 —4 1 5 2 10 10 0
JLHR=TH 411 957 507 450 -3 -8 0 0 0 —4 —4 0 4
LR EEr 1,769 4,512 2,264 2 248 2 -2 -3 2 5 -1 15 16 2 11 9
YRR 313 834 402 432 4 5 -1 0 1 3 7 4 3 3 0
W& 1,489 4,899 2,260 2, 639 0 -6 -5 1 6 3 12 9 —4 9
mMAlE -1 H 721 1,859 933 926 -8  -18 0 2 2 -9 3 12 -9 9
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MAlE T H 691 , 888 955 933 2 4 -1 0 1 0 5 5 5 6 1
mMAlE -1 H 584| 1,492 739 753 -3 -5 0 1 1 -7 1 8 2 2 0
FAIEMN T H 8s1fl 2,289 1,125| 1,164 -6  -11 -6 1 7 -6 1 7 1 4 3
ERIEENNE 562 1,397 689 708 4 5 -2 0 2 1 2 1 6 8 2
A& /ST H 403 1,058 509 549 -5 22 0 0 0 -3 0 3l -19 0 19
M EER 3,842 9,983| 4,950| 5,033 -16] -47 -9 4 13| 24 12 36|  -14 20 34

F 5 503| 1,183 575 608 0 -2 -2 0 2 0 4 4 0 1 1
g —TH 286 601 292 309 -1 -2 0 0 0 -2 0 2 0 0 0
hds T H 558| 1,326 646 680 —4 -8 0 3 3 -2 1 3 -6 0 6
B2t 844 1,927 938 989 -5 -10 0 3 3 -4 1 -6 0 6
=1 e 273 634 305 329 21 22 1 1 0 21 102 81 0 0 0
T H 616 1,346 674 672 1 1 0 1 1 -1 1 2 3 1
=N 376 991 497 494 -2 -5 1 1 0 -1 2 -5 0 5
EaEn 1,265 2,971 1,476 1,495 20 18 2 3 1 19 105 86 -3 3 6
HE -1 H 388f| 1,060 514 546 0 1 -2 0 2 2 3 1 1 1 0
WlE T H 417 1,124 553 571 0 6 1 1 0 0 1 1 5 5 0
HwoE —TH 724 1,911 949 962 -5 -8 -2 1 3 -2 1 3 ~4 0 4
HHEMN T H 440 1,076 513 563 1 6 1 2 1 1 2 1 4 5 1
HWYE T H 736 1,715 847 868 -1 -2 -3 0 3 1 7 6 0 6 6
HWHE ST H 209 466 236 230 1 0 0 0 0 -1 0 1 1 1 0
KA ECE 2,914 7,352| 3,612 3,740 —4 3 -5 4 9 1 14 13 7 18 11
<HBEL—TH 5931 1,450 704 746 -1 —6 2 2 0 -8 2 10 0 0 0
<HXIL—TH 689 1,609 797 812 -1 1 -1 0 1 1 3 2 1 4 3
<HEL=TH 489 1,181 592 589 -1 3 0 1 1 0 8 8 3 3 0
BN T H 479 1,102 543 559 0 -1 0 0 0 -1 1 2 0 0 0
SHELH T H 400 866 493 373 -1 —4 -1 0 1 0 0 0 -3 0 3
BXLEE 2,650 6,208 3,129] 3,079 —4 -7 0 3 3 -8 14 22 1 7 6
WIEAR— T H 738l 1,715 841 874 —4 —4 -1 1 2 -7 3 10 4 5 1
HIEART T H 413 1,096 543 553 1 2 0 0 0 2 2 0 0 0 0
W EARITEEL 1,151 2,811| 1,384| 1,427 -3 -2 -1 1 2 -5 5 10 4 5 1
LHE 409 840 411 429 2 1 0 1 1 3 6 3 -2 2 4
k-1 H 906( 1,510 691 819 11 15 3 3 0 12 18 6 0 1 1
ok Aw_ T H 343 607 288 319 6 11 0 0 0 10 12 2 1 1 0
ok w1 H 586| 1,607 755 852 —4 -7 0 0 0 -6 1 7 -1 1 2
ek AT H 306 670 327 343 0 -1 0 0 0 -1 3 4 0 0 0
ok B AR 2,141  4,394] 2,061| 2,333 13 18 3 3 0 15 34 19 0 3 3
FRIREET 22 62 34 28 0 0 0 0 0 0 0 0 0 0 0
a5 7371 1,898 900 998 1| -10 0 0 0 -7 1 8 -3 1 4
e e 248 647 313 334 3 3 0 0 0 4 4 0 -1 0 1
e — T H 355 973 507 466 1 3 0 1 1 3 3 0 0 0 0
e ] T H 293 729 372 357 0 0 0 0 0 0 0 0 0 0 0
AR =N 648 1,702 879 823 1 3 0 1 1 3 3 0 0 0 0
VT H 614/ 1,407 711 696 0 -1 1 2 1 1 4 3 -3 0 3
VEfEEEE] T H 484\ 1,245 595 650 -1 -2 1 1 0 -2 1 3 -1 0 1
VaE AR 1,098 2,652] 1,306 1,346 -1 -3 2 3 1 -1 5 6 —4 0 4

P A T 268 653 327 326 1 3 0 0 0 0 0 0 3 3 0
IR 226 579 312 267 0 -3 -1 0 1 -2 2 4 0 0




